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CHAPTER 6

BUSINESS EXPENSES

___________________________________________________________________

68.
Lois and Kam are married and file a joint return. Lois earns $63,500 and Kam earns $30,000.  Their adjusted gross income is $96,000.  Determine the maximum IRA contribution and deduction in each of the following cases:

a.
Neither Lois nor Kam is covered by an employee-sponsored pension plan.


Both taxpayers have earned income.  Because neither Lois nor Kam are covered by a pension plan, they each can contribute and deduct up to $4,000.  Thus, they may contribute and deduct a total of $8,000 for adjusted gross income.

b.
Both Kam and Lois are covered by an employee-sponsored pension plan.


They both can contribute $4,000 to an IRA account.  Because both are covered by an employer-sponsored pension plan, the amount of the IRA deduction is reduced when their adjusted gross income reaches $80,000.  The deduction is fully phased out when adjusted gross income exceeds $100,000. The maximum contribution amount is not affected by this limitation, only the deductible amount of the contribution.  Each $4,000 deduction must be reduced by 65%  [($96,000  -  $83,000)  ÷  $20,000].  This leaves both Kam and Lois with an allowable deduction for adjusted gross income of $1,400  [$4,000  -  ($4,000  x  65%)].  Their total deduction for AGI is $2,800 ($1,400  x  2).

c.
Assume that only Kam is covered by an employer-sponsored pension plan and that their adjusted gross income is $154,000.


Both Kam and Lois are allowed to contribute $4,000 to their IRA accounts.  Because Kam is covered by an employer-sponsored pension plan and their adjusted gross income exceeds $103,000, he is not eligible to deduct his contribution.  However, because Lois is not covered by an employer-sponsored pension plan, her contribution is fully deductible if their adjusted gross income is less than $156,000.  Since their adjusted gross income is less than $156,000, Lois can take deduct the entire contribution.

INSTRUCTORS NOTE:  With the passage of the Pension Protection Act of 2006 and effective for tax years beginning in 2007, the income limits for income limits for deductible contributions to an Individual Retirement Account for active participants who are covered by an employer-sponsored plan begins at $52,000 for single taxpayers, begins at $83,000 for married taxpayers (both are active participants) and begins at $156,000 for married taxpayers when only one taxpayer is an active participant .  These new phase out levels are not incorporated into the text but are set forth in a supplement along with additional problems that incorporate these new limits and can be found on the textbooks website http://murphy.swlearning.com.
70.
Chanda is 36, single, and an active participant in a qualified employee pension plan.  Determine the maximum Roth IRA contribution that she can make in each of the following cases:

a.
Her adjusted gross income for the year is $66,000.


A single taxpayer with an adjusted gross income of less than $99,000 is allowed to make a $4,000 nondeductible contribution to a Roth IRA.  Therefore, the maximum Chandra is allowed to contribute to her Roth IRA is $4,000.  This assumes that she did not make any contributions to other IRA accounts during the year.

b.
Her adjusted gross income for the year is $102,000.


When a taxpayer's adjusted gross income exceeds $99,000, the amount that can be contributed to a Roth IRA is phased out ratably until no contribution is allowed when adjusted gross income equals $114,000.  The amount of Chandra’s Roth IRA deduction must be reduced because her adjusted gross income exceeds the $99,000 phase-out level.  Therefore, she must reduce the amount she contributes by 20%  [($102,000  -  $99,000) ÷  $15,000] and can contribute only $3,200 [$4,000  -  ($4,000  x  20%)] to her Roth IRA.

c.
Her adjusted gross income for the year is $126,000.


Because Chandra’s adjusted gross income exceeds $114,000, she is not allowed to make a contribution to a Roth IRA.

d. Her adjusted gross income for the year is $54,000, and she makes a $2,400 contribution to a deductible IRA account.

The maximum amount that a taxpayer can contribute to all of his or her IRA accounts is $4,000.  Because Chandra made an $2,400 contribution to another IRA account, the maximum amount that she can contribute to her Roth IRA is $1,600  ($4,000  -  $2,400).


INSTRUCTORS NOTE:  With the passage of the Pension Protection Act of 2006 and effective for tax years beginning in 2007, the income limits for income limits for deductible contributions to an Individual Retirement Account for active participants who are covered by an employer-sponsored plan begins at $52,000 for single taxpayers, begins at $83,000 for married taxpayers (both are active participants) and begins at $156,000 for married taxpayers when only one taxpayer is an active participant.  In addition, the income limits for Roth contributions will be indexed for inflation. As a result, the income limits for Roth IRA contributions at $99,000 for single taxpayers, and at $156,000 for married taxpayers.  These new phase out levels are not incorporated into the text but are set forth in a supplement along with additional problems that incorporate these new limits and can be found on the textbooks website http://murphy.swlearning.com.
72.
Alex and Carmin are married and have two children, ages 6 and 3.  Their adjusted gross income for the year is $123,000.  What is maximum amount they can contribute to each child’s Coverdell Education Savings Account for the year?  


All taxpayers can make a nondeductible contribution of up to $2,000 to an Education IRA for the benefit of an individual who is not 18 years of age.  However, the total amount contributed to an individual’s Coverdell Education Savings Account is limited to $2,000.  For married taxpayers, this amount is phased out ratably when their adjusted gross income exceeds $190,000 and is fully phased-out when adjusted gross income exceeds $220,000.  Because Alex and Carmin’s adjusted gross income is less than $190,000, they can contribute $2,000 to each child’s education savings account.

If their adjusted gross income is $208,000, what is the maximum contribution that can be made to each child’s education savings account?

Because their adjusted gross income exceeds $190,000 the amount that they can contribute to each education savings account is phased out ratably until no contribution is allowed when adjusted gross income equals $220,000.  Therefore, they must reduce the total amount they contribute to each education savings account by 60%  [($208,000  -  $190,000)  ÷  $30,000] and they can contribute $800 [$2,000  -  ($2,000  x  60%)] to each education savings account.

76.
Simon graduated from Lessard University last year.  He financed his education by working part-time and borrowing $16,000.  During the current year, he pays $1,400 of interest on his student loan.

a.
What amount can Simon deduct as student loan interest if his adjusted gross income is $33,000?


Simon can deduct the $1,400 of student loan interest for adjusted gross income.  A qualified education loan is one that is used to pay for tuition, fees, room and board, and other necessary expenses.  The maximum amount of interest that can be deducted is the lesser of $2,500 or the interest paid.  Any amount in excess of the maximum is considered personal interest (discussed in Chapter 8) and is not deductible.  The interest deduction is phased out ratably for single taxpayers with adjusted gross income between $55,000 and $70,000.

b.
What amount can Simon deduct as student loan interest if his adjusted gross income is $67,000?


The maximum amount of student loan interest that can be deducted is phased-out ratably when adjusted gross income exceeds $55,000.  Since his adjusted gross income is greater than $55,000, the amount that he can deduct must be reduced by 80% [($67,000  -  $55,000) ÷  $15,000].  This leaves him with an allowable deduction for adjusted gross income of $280  [$1,400  -  $1,120 ($1,400  x  80%)].  The remaining $1,120 (1,400  -  $280) of interest is personal and is not deductible.


The amount of the student loan interest that is subject to the phase-out is the lesser of the interest paid or $2,500.  In this example, the amount of interest paid, $1,400 is less than $2,500, so $1,400 is used in the calculation.

78.
During the current year, the Coetzer Corporation hires Marcelo, and agrees to reimburse him for all his moving costs.  Marcelo submits the following expenses to Coetzer for reimbursement:

Transportation of household goods

$2,700

Airfare






     340

Temporary living


Lodging





     430


Meals






     120

House-hunting trip:


Transportation




     330


Lodging





     280


Meals






     110

a. What amount can Marcelo deduct as moving costs?


Marcelo can deduct $3,040 of moving expenses for adjusted gross income.

Transportation of household goods

$ 2,700

Airfare






      340

Total







$ 3,040

Marcelo can only deduct his direct moving expenses.  Direct moving expenses include the cost of moving household goods and personal effects to the new residence, and Marcelo’s airfare to his new residence.  The housing hunting expenses and temporary living expenses are considered personal in nature and are not deductible.  

b. If Marcelo is in the 28% marginal tax bracket, what is the effect of the reimbursement on his taxable income and his total tax liability?


Because Marcelo is reimbursed for all of his moving costs, he will have to include the $4,310 he is reimbursed in income but is only allowed to deduct $3,040 of these expense.  Therefore, the net effect is that he will report $1,270 of income.  Since he is in the 28% marginal tax bracket, he will pay an additional $356 in taxes.

Total moving expenses reimbursed

$ 4,310

Deductible moving expenses


  (3,040)

Net increase in income



$ 1,270

Marginal tax rate




x      28%

Increase in Marcelo’s tax liability

$    356
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